EAEAQ (B L #)

1) z=—-4, y=-3 (2 z=3, y=—1 () z=-1, y=3

4) z=2, y=-3 (6 z=-6, y=—3 (6) z=2, y=-1
W —z+dy=—8 e @
r—2=2 e ®
@, QDELES L, FLES> LEALTL
—r+4y=-38
+ z—2y=2
2y=—6
y=-3
y=-3%2QIIkAATHL
z—2X(=3)=2
z=—4
£oT z=—4, y=-3
20—y=T een @
@ 3x+z=8 """ @
@, QDELES L, FAES> LeALTL
2z—y="7
+) 3z +y=8
5z =15
z=3
z=3% QILRATD L
3X3+y=8
y=-1
£oT z=3, y=—1
20—y=—=5 et @
—3r+2y=9 e @
®x2 4z —2=-10
+) —3z+2=9
z =-1

z=—1%2DIZRATEL
2X(=1)—y=-5

-y=-3

y=3

£oT  z=-1, y=3
2z4+3y=—5 ©)
Tz4+5y=—1 - )]

Ox5 10z+15=—25

@x3 =) 2lz +15y=—3

—1lz =-22
=2
z=2% QILRATE L
2X24+3y=-5
y=-9
y=-3
£oT z=2, y=-3
3x—by=—-3 - @
=2 e @
@& DItRATBL
3X2y—5y=-3
y=-3
y=—3 %2 QIZRATDL
z=2X(-3)
rz=—6
£oT z=—6, y=-3
Sz+2y=8 e @
zty)—dy=7 - ©)
QM-I EIFTTL
r+3y—4dy="7
Jz—y=T7 e ©}
0] 5z + 2% =8

@Ox2 +) bz—2y=14

11z =22
=2

z=2% QILRATE L
5X2+2y=8

y=-2

y=-1

£oT z=2, y=-1

)

3 NODHE 9 BE, 4 ADHE 2 BE

3SADMDEE z, 4 A\DMDEEy LTBL

z4+y=11 e )
[3z+4y:35 ~~~~~~ @
@ 3r+4y=35
Ox3 =) Ja+3y=33
y=2

y=2% OITRALTHESL z=9
r=9, y=23MEIHEL T3,
£oT  3ADHEIHE, 4 ADHE2E



